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( 2% Hours ) I Total Marla :

N.B. : (1) Alt Questioo are Compulsory'

A) Figures to the right indicate full marks allotted to the question'

(3) lilorking notes should form part of your ans\ryer'

1. (a) Select the rnost appropriate option and rewrite the full sentence (Any 8) : 
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(1) Stores Ledger Control Account, ar:counts for ----..--_., .,:-tY't'

' All Overhead incurred in process -'i''"
c A11 Wages incurred in process *o,l. Ail Purchases of materials for the stores and all Issue-g{'draterials
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(4) At Break the Contribution is equal to - '
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(s) the Input is 8,400 units, Normal loss 15olo and Output 7,500 units,
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(6) Cost altrocation bases in Activity-Based Costing shr:rrld b" 

-
' Cost drivers

' Cost Pools
I Activity centres
t Resources 
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(T) The Stanclard Cost Card contains quantities and cost fi-rr 

=#Y. Direct material onlY .-S

. Direct material and Direct labour only 
-.-*o''. Direct labour only ,.\,

. Direct materiai, Direct labour and Overheads *It

(8)

(e)
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In Contract Costing, Payment of Cash to the @tractor is made

5Y-on tho basis of .---' .--\
r Uncertified work ,-+f-'. Work-in-Progress --'\*.

. Certified work ,*;
* Retention money t:--

.-.$=
Actual output is 25,000 unitry$iormal loss is 3,000 units, Abnormal

!

loss is 2,000 units,

20,000 units

15,000 units

30,000 units --(-
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P balance shor'vs

Finished work

of Unfinished work

of Materials

None of the above
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1, (b) State whether the following statements are True or False (Any 7) :

(1) \{arginal oosting is a methoC of costing'

@ Abnomral loss in process is vaiued at serap value'

(3) Units produced at a process are not homogeneous'

(4) The term 'Cost Driver' is used under traditional costing system. *y
(5) The degree of completion of worl< is determined by comparing the"s

work certified with cash received. ,,,i;i'
(6) Selling & distribution overheads recovered are debited to Qbbt r-rf

Sales Account. -.'b(1) There is difference between notional profit and estimatg$lrofit, in
relation to Contract. ,, "t

(8) The carsal relation-ship ls considered wrderActiviS System.

(9) Standarcl Hour is not used while cornputing Rate Variance

1t{on-integrated accounts are based on Doublo Systegr of Book-

keeping.

2. RKLtd. providesyouthe followilg
2016:

themonthended3 I'tJanuary 15

Process Accounts.
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Particulars

96,000 I 6,1 60 10,840B asic Raw Materials Introduced rwl
18l2 15Cost ofBasic Raw Material por.g^.=r 1r1

1,32,400 t,67,120 1,73,860trndirectMaterials (*)
7,60,000 7,40,0006,80,000Direct Wages -

2,40,00c 3,80,000 3,90,000DirectExpenses .8 (r)
2,82,00A 2,50,000 2,'.I0,000(r)Production "*.t "uat 

rilnv
t@6it Fro.er* (%)Output tranferred 70% 6A%

3*% 4A% 100%Output Sold at 16sia oithe Process (%)

30 50 80(*)Kg.Selling

5Y0 8% 1,0%introduced in the process)

10 15"5(r)Scrpi.ft/alue perKg
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2. & Co. Ltd' rnanufactures a product which passes through three

The following partioulars gathered for the month of March' 2A16'

Prepare Process Accour$s'
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Materials Introduced (Kes)

J)b9096(r)Material kg.Raw peraslCofBCost
22,0007,Q7,000

IndirectMaterials
(r)

9,496680

4,400il
i 5,360(r)

Wages 5li"/o oI50% of

Wages

50% of

5%5%
Normal toss (% ontotal i"Pu|

6({)value kgSales pe(Scrap 40%s0%
transferred

(%)nextto pfocess
Output 10092o60%50%

transtbued warehousetoOutput
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3. Sealink Constluction Company has undertaken three contracts during the year
andfollowingparticulars are available as on 3 i-03-2016.

All Contracts were the crirrent year. Total depreciation
to all contracts in the

of profits transfbrred
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Particulars Contract X

?

ContractY

t
\.

ContractZ

T

Contract Price 1,00,00,000 2,50,00,000 75,00,0sffS

Materials issued to Contract 16,52.000 22,45,AAA 18,%6!"db'o

Labour 10,29,000 12,65,000 000-vs5,
Sub Contract Charges 8,49,000 8,39,000 00035

2

r\
{t" 4

Architect's Fees 3% of Wr:rk

Certif,red

3it, af Work r

{,:..
Certified

),.*':x of work

Certified

Inswance Charges 30,000 6!,obo 74,000

Work Certified 40,00,000 Sri.00.000 50,00,000

VtrorkUncertified 3,50,000 4,00,000\J
{ 2,50,000

Amount Received fram Contractee 80% of V/orl,-

LertlJied

' 9}Yoaf \&',rrli

Certified

75% of Work

Certified

Closing Stock of lr{ateriais r;9o,ooo 1,00,000 2,00,000

,3652.{ 6.

TURN OYER

I

onpiants amountedto T 1,1

rati o of work certifred.
Prepare Contract

to Profit & Loss

Calculation be made to the nearest rupee.

OR



Q.P' Code : {8295

DSK Ltd. comrnenced a contract on 1*tApril 2015. The total c$atract Price

was for T 35,00,000 and it is iikely to be completed on 31't December 2A16'

The actual expenditure upto 3 1't Mareh, 20 16 and subsequent estimated expenditure

upto 31't Decemb et,2AL6 are given beiow

The Plant to annual dePreciation @ Z0% p.a. on original

cost. It was the profit to be r'aken credit for shouid be that Portion

of estimated to be realised on cornpletion of the contrbct which the

certified as on 3l'tMarch, 2016 bears to the total contrac't prtce'

are required to PrePare Contract Account forthe Year ended 31*t

16 and show Your calculation of prof,rt to be credited to the Profit

s Account for the Year ended 3 tr " 16. Calculation should be

the nearest ruPee"
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Expenditure fro{#
s6$-zore
b

01-04-2016 to

EstimatedActualExpenditure

upto 31-3-2016

(r)

Particulars

9,20,000

('4

00

30,000

4,40,000DirectLabow
20,000

Sub Contoactcharges
1,70,000i,20,000

Chmgeble ExPenses

3,00,000Plant Purchased

2,00 000
Plant returned to stores at the

end ofthe eriod Cost

4%/l O./Lt /U

1
.l.

Architect's Fees (% ofWork

Certified)
3 5,00,00020,00,000

Work Certified (Cumulative)

50,000
WorkUncertified

18,00,00016,00,000

PT-Gon'3652'{ 6'
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Cashreceived
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4. Following are the balances in cost ledger of a manufach:ring company on 1't

April.2015.
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Following are the transactions for the month ending on 3

Raw Material pr.lrohases

,rvlaterials issuerl to pro duction

)

2015 ,

Factory wages

Factory overhead incured

Indirect Labour

Factory overhead charged to

Cost of sales

Sales Return at cost

Finished Product at

-44,i r'
.<L-*

1e\*\/\\'a<
tsi'

oroHfiction

64,500

51, 520

12,84Ci

8,120

2,460

11,600

57,850

1,000

67,500

60,000Sales

Prepare foilowing co accounts.

0 Cost Account

(ii) Work s Ledger Control" Account

(iii) Ledger Control Account

Credit

(")
Debit

(r)
4,580Finished StockLedger Control A/c

1,020Factory Overhead Control Alc

2,465Work-in-Pro gres s Control A/c

4,424 ^QStores Ledger Control A/c

1&\&iCost Ledger Control AJc

TURN OVER

Control Account

{*}

P

t

(v) of Salss Account
0verheads Control Account

Costing P&LAccount
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4. (a) calculate Material. and Labour variances from the following data :

Standard per 10 Units -

I\.{aterials 60 Kgs @ r 4 Per Kg'

Labour 40hours @ t 4 Perhour

5.(a) WhatdoYou by the term "BreakEvenAnalysis" Enurnerate its

I

uses.

(b) Define (1) J ?roduct f?) Rv-Product.

OR

5. Write onAnYThree:
of Target Costing'

Ledger Control Account'
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(1)

Work Certified and Uncertified in Contract'

TURN OYf,R

(b)

Calculate:
(i) PA/ Ratio
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